

$$\text{non-cst poly } p \in \mathbb{C}_{\neq 0}^{\mathbb{C}} \Rightarrow \bar{p}^{-1}(0) \neq \emptyset$$

$$z p = z^n \left( p_n + \frac{p_{n-1}}{z} + \dots + \frac{p_0}{z^{n-1}} \right)$$

$$\overline{z p} = \overline{z^n \left( p_n + \frac{p_{n-1}}{z} + \dots + \frac{p_0}{z^{n-1}} \right)} \geq \overline{0 p} \Rightarrow \bigvee_o^{\mathbb{C}} \bigwedge_z^{\mathbb{C}} \overline{z p} \geq \overline{0 p}$$

$$\text{poly } {}^{o+} z p = \sum_{0 \leq k} z^k a_k$$

$$p \neq \text{cst} \Rightarrow {}^{o+} z p \neq \text{cst} \Rightarrow \bigwedge_{m > 0}^{\min} a_m \neq 0 \Rightarrow {}^{o+} z p = a_0 + \sum_{m \leq k} z^k a_k$$

$$\overline{\frac{2}{a_0}} = \overline{\frac{2}{0 p}} \leq \overline{\frac{2}{{}^{o+} z p}} = \overline{\bar{a}_0 + \sum_{m \leq i} \bar{z}^i \bar{a}_i a_0 + \sum_{m \leq j} z^j a_j} = \overline{\frac{2}{a_0}} + \bar{z}^m \bar{a}_m a_0 + \bar{a}_0 z^m a_m + \sum_{m \leq i} \sum_{m \leq j} \bar{z}^i z^j \bar{a}_i a_j$$

$$\Rightarrow 0 \leq \bar{z}^m \bar{a}_m a_0 + \bar{a}_0 z^m a_m + \sum_{m \leq i} \sum_{m \leq j} \bar{z}^i z^j \bar{a}_i a_j \stackrel{z = r\vartheta}{=} r^m \underbrace{\bar{\vartheta}^m \bar{a}_m a_0 + \bar{a}_0 \vartheta^m a_m}_{\bar{\vartheta}^m \bar{a}_m a_0 + \bar{a}_0 \vartheta^m a_m} + \sum_{m \leq i} \sum_{m \leq j} r^{i+j} \vartheta^{j-i} \bar{a}_i a_j$$

$$\Rightarrow 0 \leq \bar{\vartheta}^m \bar{a}_m a_0 + \bar{a}_0 \vartheta^m a_m + \sum_{m \leq i} \sum_{m \leq j} r^{i+j-m} \vartheta^{j-i} \bar{a}_i a_j \stackrel{i+j-m > 0}{\underset{r \rightrightarrows 0}{\Rightarrow}} 0 \leq a_m \vartheta^m \bar{a}_0 + a_0 \bar{a}_m \bar{\vartheta}^m$$

$$0 \leq a_m \overbrace{\vartheta e^{\pi i/m}}^m \bar{a}_0 + a_0 \bar{a}_m \overbrace{\vartheta e^{\pi i/m}}^m = a_m \vartheta^m e^{\pi i} \bar{a}_0 + a_0 \bar{a}_m \bar{\vartheta}^m e^{\pi i} = -a_m \vartheta^m \bar{a}_0 - a_0 \bar{a}_m \bar{\vartheta}^m$$

$$\Rightarrow a_m \vartheta^m \bar{a}_0 + a_0 \bar{a}_m \bar{\vartheta}^m = 0 \Rightarrow 0 = \underbrace{a_m \vartheta^m \bar{a}_0 + a_0 \bar{a}_m \bar{\vartheta}^m}_{\vartheta^m \bar{a}_0 + \bar{a}_m \bar{\vartheta}^m} \vartheta^m = a_m \vartheta^{2m} \bar{a}_0 + a_0 \bar{a}_m$$

$$\stackrel{\Rightarrow}{\vartheta \text{ bel}} a_m \bar{a}_0 = 0 = a_0 \bar{a}_m \stackrel{\Rightarrow}{a_m \neq 0} {}^o p = a_0 = 0$$